FEFEEFR2023FMIARERNESHAGIEIRNBE LT TREREIF2AF

RS HE | SUAB | TUER | 2IHR | BidHN | SRtk | Mikers | SHEWKERSE | SHESRERS | Sid/NEAG | Silks | SHE | EEHRN
105593250003733 | #*% | 125100 | TrHEE | IF£BH | *BERE | TEITR 266 54.6 54.2 26.2 135 401 =
105593250003239 | 3B*hl | 125100 | TraEEE | IF£BH | £*BRFE | TEITR 265 51.6 51.6 26.4 129.6 | 394.6 =
105593250002898 | f&*% | 125100 | THEE | IF2HS | £ ESRE | TEWIT 257 51 524 22.2 125.6 | 382.6 p=3
105593250002547 pg* | 125100 | THERE | Ik£BH | 2 BHR*F | TEWIHL 247 54.2 55 23.8 133 380 =3
105593250003680 FF* | 125100 | THEE | F2BH | 2ESE | TETL 253 53 53.2 20.6 1268 | 379.8 =
105593250002084 &£* | 125100 | THEE | F£0H | 2EHE | TETL 250 52.8 534 19.6 125.8 | 375.8 =
105593250002033 2* | 125100 | THEE | F2BH | 2EBSE | TETL 246 52.6 53.6 23.2 1294 | 3754 =
106133125100008 | %% | 125100 | TreEE | IF=BH | £*BHR*E | LTI 239 544 54.2 27.2 1358 | 374.8 =
105593250003844 mg* | 125100 | IR | k2B | 2B%%E | ZEmitL 240 54.6 55.2 24.8 1346 | 374.6 P
105593250003243 | E*¥ | 125100 | ITHEE | IF2BH | £BSH%E | TEWITL 244 54 53.6 21.6 129.2 | 373.2 =
105593250002623 | Ak | 125100 | THEE | E2HS | £ ESRE | TEWIT 243 54 53.8 22.4 130.2 | 373.2 b3
105593250003925 R* | 125100 | THERE | F£0H | 2ESE | TEmTL 244 524 52.8 214 126.6 | 370.6 =
105593250003671 BR* | 125100 | THEE | k2B | 2KBSR*® | TEWHK 240 53.2 55.8 20.4 1294 | 3694 =
105593250004149 w* | 125100 | ITrHEE | Ik=EE | £E%%E | ZEmItY 241 524 53 21.8 127.2 | 368.2 =3
105593250002601 | Z*: | 125100 | THERE | IF£BH | £EH#*E | TEMIItK 237 53.2 54.2 23.2 1306 | 367.6 =
105593250003191 | Z=*i | 125100 | THEE | IE2BH | 2EHRE | TEDITHK 238 544 54.8 20.2 1294 | 3674 =
105593250003066 | #*& | 125100 | TR | IF£BH | £ E&%E | TEIITR 236 52.6 52.8 24.8 130.2 | 366.2 =
104863627007474 | BF*7= | 125100 | THEE | IE2BH | 2EH%E | TEDTX 229 55.8 56.2 25 137 366 =
104863627007380 *B | 125100 | THEE | F2BH | 2ESE | TEITL 237 53.8 54 20.8 128.6 | 365.6 2
105593250003034 | &*H | 125100 | ITHEE | IF2BH | £BSH%E | TEWITL 243 494 514 20.8 121.6 | 364.6 =
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
105593250002492 3k* | 125100 | TrHEE | IFE0H | 2ES% | ZEmITL 243 50.2 51.6 19.2 121 364 =
104863105001756 B> | 125100 | TSR | IF2BH | 2E5%E | TEWITL 224 54.6 55.6 26.2 1364 | 360.4 | EMIMIREN
105203666600381 | 2*& | 125100 | TrHEE | IF£BH | £*BRFE | TEITR 224 54.6 55.2 26 135.8 | 359.8 RLEHIREN
105593250002197 | Z=*j5 | 125100 | THEE | IF2HH | £ ESRE | TR 233 50.6 50.6 19.6 120.8 | 353.8 b3
105593250002876 B | 125100 | TrHEE | Ik2EE | £E%% | ZEmItH 250 42 444 15.8 102.2 | 352.2 | EIXEAERE
100693123401028 Z* | 125100 | THEE | F2BH | 2ESE | TETL 213 55.8 55.6 27.2 1386 | 351.6 =
105593250002497 | 3k*fE | 125100 | TrsEE | Ik BH | £*BRFE | TEIHR 225 53 53.8 18.6 1254 | 3504 =
100013000320844 | #B*7x | 125100 | TrsEiE | IF£BH | £BER%E | TR 220 544 54.8 21.2 1304 | 3504 =
100073000005340 | ZH*#5 | 125100 | TreEE | Ik=BH | £*BHR%E | TR 213 54.6 54.8 26 1354 | 3484 =
100013000322132 E* | 125100 | THEE | F2BH | 2BSE | TEUHL 217 534 54.4 234 131.2 | 348.2 =
105593250003783 | H*% | 125100 | TraEE | IF£BH | £*BRFE | TEITR 225 48.8 52 22.2 123 348 =
100073000005448 | 75*## | 125100 | THERE | k2B | £ ESRE | TEWITL 210 54 55 26.2 135.2 | 345.2 =z
100113199000381 | #&*f | 125100 | TraEEE | IF£BH | £*BRFE | TEIHR 209 53.2 54.2 27.6 135 344 EMIMIRE
100013000240155 BB | 125100 | TR | Ik2HE | 2B%% | TEmitL 209 55.2 554 23.8 1344 | 3434 b3
101263003110011 | Z=%f | 125100 | TrHEEE | IF=BH | £*BR*E | TEIHR 205 53.8 554 27.6 136.8 | 3418 B REY
106143125117537 | £*5 | 125100 | THEE | IF£BH | 2EHR*E | TEMIIHL 210 51.8 54.2 25.2 131.2 | 3412 =
100103111001612 | #&X*F% | 125100 | TrsEE | IF£BH | £*BRFE | TR 212 524 524 23.6 1284 | 3404 =
100013000320284 | 3k*E5 | 125100 | THERE | IF£BH | £EHRE | TEIIHK 210 52.8 53.6 23.8 130.2 | 340.2 =
105593250003031 | &*55 | 125100 | THEE | IE=2BH | 2EH%E | TEDTK 214 52 52 21.8 125.8 | 339.8 =
101283010003741 |B*= | 125100 | THEXE | IF£BH | 2EHR*E | TEIIHL 209 52.2 54.2 24.4 130.8 | 339.8 2
100013000320932 Z* | 125100 | TrHEE | IF£0H | 2E5% | TEmITL 204 55.2 55.6 214 132.2 | 336.2 =
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
105593250003088 | #£*%9 | 125100 | TraEE | Ik BH | £*BRFE | TEIUTR 220 48.8 50 17 115.8 | 335.8 | EXKEFEIE
105593250002987 BR* | 125100 | THEE | k2B | 2BR*® | TEWIHL 204 53.8 53.6 24.2 131.6 | 335.6 2
100343119990646 5* | 125100 | THEE | F£0H | 2ES% | TEmITL 199 54.8 54.6 27.2 136.6 | 3356 | EMHIMITEN
106973611605151 | 4*5& | 125100 | THEHE | IF2HS | 2 ESRE | TEWIT 198 55.2 56.2 25.8 137.2 | 335.2 b3
102463115520732 | B*EF | 125100 | TraEEE | IF=BH | ®*BR%E | TR 200 54 544 26.8 135.2 | 335.2 =
100193111900876 | B*4& | 125100 | THEE | IEE2BH | £ESHRE | TEDITHK 196 54.8 56 28.4 139.2 | 335.2 | EHIMNZFEE
100013000320826 T|* | 125100 | THEE | F£0H | 2ESE | TEmTL 198 55.2 55 254 1356 | 3336 =
105593250003122 | 3k*fr | 125100 | THERE | IF£BH | 2EBHR%E | TEIIHK 199 56.6 55.2 22.2 134 333 =
100083250002764 | #AB*AZ | 125100 | TrsEE | Ik BH | £*BHRFE | TR 200 53.8 54.2 25 133 333 =
105593250002134 3K* | 125100 | THEE | F2BH | 2ESE | TETL 231 43.8 44 13.2 101 332 | EHEAEE
100013000280401 FE* | 125100 | TrHEE | F£0H | 2ESHE | TEmITL 202 52 50.4 26.2 128.6 | 330.6 =
100013000320189 B* | 125100 | ITHEE | F2BH | 2ESE | TEWITL 195 54.6 55.2 25.6 1354 | 3304 =z
100083250002329 | R*3& | 125100 | TraEEE | IF£BH | £*BRFE | TEIIHR 198 54.2 54.2 23.8 132.2 | 330.2 =
100013000170870 £a* | 125100 | THEE | F2BH | 2EBSE | TETL 195 54.6 54.2 26.4 135.2 | 330.2 b3
100063210104702 & | 125100 | TrHEE | Ik=EY | £E%%E | ZEmItHY 198 55.6 54.6 21.8 132 330 =3
144303087000396 M+ | 125100 | ITrHETR | Ik2HE | £BR%E | ZEmitL 195 53.6 54.2 25.8 1336 | 328.6 =
100083250002617 | R*& | 125100 | TrsEE | Ik£BH | £*BRFE | TEIIHR 193 55.2 544 26 1356 | 328.6 =
100943111300003 | &*% | 125100 | THERE | IF£BH | 2EHR*E | TEMIHK 196 51.8 52.6 274 131.8 | 327.8 =
102003210306630 | #*#7 [ 125100 | TreEE | IF£BH | £*BHR%E | TR 193 55.4 55.2 23 133.6 | 326.6 =z
100073000006869 | #7*f7 | 125100 | TrHEIE | IF£HT | £BHRE | TEIUTR 192 54.6 54.8 244 133.8 | 325.8 1B REY
100043451712474 | £ | 125100 | TrHEE | IF£BH | £*BRFE | TEITR 195 53.6 534 23.6 130.6 | 325.6 =
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
114143135064292 | B*F% | 125100 | ITHEE | IF2BH | £BSH%E | TEWTL 193 51.6 53.6 26.8 132 325 B
100013000170657 | #*F | 125100 | TrHEE | IF£BH | fBERE | TEITR 193 55 54.8 22 131.8 | 324.8 S
104223510902348 | =*E | 125100 | TrEiE | IE£BH | £fBE&E | TETUTH 195 52.6 534 23.8 129.8 | 324.8 B
144303087000742 *B* | 125100 | THEE | F2BH | 2ESE | TEITL 188 56 56 24.8 136.8 | 324.8 B
100543000002751 | /*&5 | 125100 | TraEEE | k= BH | €*BR*E | TEIHR 195 52.6 52 24.8 129.4 | 3244 B
105593250002517 | A*5& | 125100 | TrEE | IF£BH | fBER%E | TEITR 197 52.8 534 20.8 127 324 B
100083250002722 | ZB*gH | 125100 | TrsEE | Ik BH | £*BRFE | TEIHR 195 52.6 52.8 23 1284 | 3234 B
100073000005223 | E*7% | 125100 | TrsE=1E | IF£BH | £BER%E | TEITR 194 52.8 53.6 224 128.8 | 322.8 S
100023517106130 | /*& | 125100 | TreEE | Ik=BH | £*BR%E | TR 188 54 55 254 1344 | 3224 &
100023512905345 | T*& | 125100 | TrEiE | IF£BH | £ BER%E | TEIITR 189 55.6 54.4 23.2 133.2 | 3222 S
100193111900420 | #%*58 | 125100 | ITHEE | IF2BH | £BH%E | TEWITL 188 54.4 54.8 25 1342 | 3222 B
144303087001374 | 38*52 | 125100 | THEE | Ik2HHS | £ ESRE | TEWITL 195 514 51.8 23.6 126.8 | 321.8 B
100083250002189 | 3*gg | 125100 | TraEEE | IF=BH | £*BR*E | TEIITR 195 524 52 21.6 126 321 =
104223510903879 5* | 125100 | THEE | F2BH | 2ESE | TETL 190 52.8 53.8 24.2 130.8 | 320.8 B
100013000170792 | 3k*E | 125100 | TraEEE | IF=BH | £*BR*E | TEIIHR 197 51.6 50.8 21 1234 | 3204 =
104863105001143 3K* | 125100 | THEE | F2BH | 2ESE | TETL 205 48 48.8 18.4 115.2 | 320.2 B
100073000005254 | £*A4 | 125100 | TrsEE | Ik£BH | £*BRFE | TR 190 53 52.8 24.2 130 320 &
100563000206810 | XI*8% | 125100 | THERE | IF£BH | 2EHRE | TEIIHK 188 52.6 52.8 26.4 1318 | 319.8 B
100603130710046 w* | 125100 | ITrHEiE | IF=EE | £E%% | ZEmItHY 194 51 51.6 23 1256 | 319.6 S
107553000002551 | f1*& | 125100 | THEXE | IF£BH | 2EHR*E | TEIIHL 188 55.4 53.2 22 1306 | 318.6 &
144303087000527 | &*Fl | 125100 | THEE | IF2BH | £BH%E | TEWITL 188 54 54.2 21.6 129.8 | 317.8 B
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
100083250007013 =% | 125100 | TrHEE | FE0H | 2ES%% | TEmITL 191 51.2 50.6 24.8 126.6 | 317.6 B
100063210106474 =* | 125100 | ITHEE | F2BH | 2ESE | TEWITL 189 51.4 51 25.8 128.2 | 317.2 &
100533250060467 £* | 125100 | THEE | F£0H | 2ESE | TEmITL 190 52.6 514 214 1254 | 3154 B
144303087000540 | XU*J0 [ 125100 | T2 | IF£BH | fER*E | TEITR 194 50.2 494 21.6 121.2 | 315.2 B
100193111901131 B* | 125100 | TrHEE | Ik=EE | £E%% | ZEmIItHY 189 52 51.6 224 126 315 B
100083250002035 3K* | 125100 | THEE | F2BH | 2ESE | TETL 191 50.6 49.6 23.2 1234 | 3144 B
100083250002223 | B*ze | 125100 | TreEE | Ik BH | £*BRFE | TR 188 50 514 24.2 1256 | 3136 a
100083250002161 | Z=*gy | 125100 | TrE=1E | IF£BH | £ ER%E | TEINTR 196 47.6 49.2 20.6 1174 | 3134 S
144303087001771 | #8*& | 125100 | THEE | IE2BH | 2EH#%E | TEDITHK 188 50.2 51 21.8 123 311 B
105593250003350 | 125100 | TSR | k2B | 2BE%%E | ZEmIR 188 50.8 51.6 204 122.8 | 310.8 S
144303087001103 | Z=*fx | 125100 | TrEE | IF£BH | £*BRFE | TEIUTR 188 51.6 52.6 17.6 121.8 | 309.8 B
100073000005676 | #*Z | 125100 | THERE | F2HS | £ ESRE | TEWITL 189 494 49.2 21.6 120.2 | 309.2 B
105593250003091 | B*#& | 125100 | TraEEE | IF=BH | £*BR*E | TEIIHR 253 0 0 0 0 253 =
105593250003084 3K* | 125100 | THEE | F2BH | 2ESE | TETL 248 0 0 0 0 248 B
105593250003270 B* | 125100 | TrHEE | Ik=E | £E%%E | ZEmItY 247 0 0 0 0 247 =
105593250003155 XU* | 125100 | TR | Ik2HE | 2BR%E | ZEmitL 246 0 0 0 0 246 B
105593250002730 XU 125100 | TrHETE | IF2EY | £E%%E | ZEmIItHY 245 0 0 0 0 245 &
105593250003025 r | 125100 | ITrHETR | IF2HE | 2B%%E | ZEmitL 245 0 0 0 0 245 B
105593250003238 | &*H | 125100 | TreEE | Ik=BH | £*BHR*E | TR 240 0 0 0 0 240 &
105593250003241 w* | 125100 | THEE | IE£BH | 2B&R*E | TEMIIHL 238 0 0 0 0 238 S
105593250003862 | Z=*#5 | 125100 | TrEE | IF£BH | £*BRFE | TEIUTR 237 0 0 0 0 237 =
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
104863627007365 | 3k | 125100 | TraEE | Ik BH | £*BRFE | TEIUTR 232 0 0 0 0 232 B
105593250002138 | EB*#X | 125100 | THERE | k2B | £ ESRE | TEWITL 231 0 0 0 0 231 &
112323125102156 | #*& | 125100 | THEE | k=B | 2 EH%E | TEWITL 226 0 0 0 0 226 =
114133142803921 F* | 125100 | THEE | k2B | 2KBFR*® | TEWIHL 212 0 0 0 0 212 B
114133116301514 | 3K* | 125100 | TrEEE | IF=BH | *BR*E | TEIHR 206 0 0 0 0 206 =
100013000320750 | #B* | 125100 | TrEE | IF£BH | fBER*E | TEITR 204 0 0 0 0 204 B
104863627007410 | #B*@® | 125100 | TraEEE | IF=BH | £*BR*E | TEIIHR 202 0 0 0 0 202 B
104593411180004 | Z=*# | 125100 | TrHEE | IF£BH | fER%E | TEITR 199 0 0 0 0 199 B
100083250003868 | E*H | 125100 | TreEE | Ik BH | £*BRFE | TR 199 0 0 0 0 199 &
106983410113614 | 5R*§ | 125100 | TrsE1E | IF£BH | £BER%E | TEINTR 199 0 0 0 0 199 B
100773007020125 | 4*% | 125100 | TraEE | IF£BH | £*BRFE | TEIUTR 198 0 0 0 0 198 B
144303087000918 | Z=*4& | 125100 | TrE1E | IF£BH | *BERE | TEITR 197 0 0 0 0 197 S
114143111640793 | =% | 125100 | TrHEEE | IF£BH | £*BRFE | TEITR 196 0 0 0 0 196 =
100563000207542 | F* | 125100 | THEE | F2HH | £ ESE | TEWIT 196 0 0 0 0 196 B
114133116301513 | =55 | 125100 | TrHEEE | IF=BH | *BR*E | TEIHR 195 0 0 0 0 195 =
105933000017288 Br* | 125100 | THEE | k2B | 2KBSR*® | TEWIHE 194 0 0 0 0 194 B
100563000207507 | f&*AK | 125100 | TraEEE | FF=BH | £*BR*E | TEIIHR 194 0 0 0 0 194 B
105593250003179 | XlI*& | 125100 | THERE | IF£BH | £EHR*E | TEIIHK 193 0 0 0 0 193 B
114133116301346 | # | 125100 | TrsEE | Ik BH | £*BRFE | TR 193 0 0 0 0 193 &
100083250006822 | #*#& | 125100 | THEE | Ik£BH | 2EHR*E | TEIIHL 192 0 0 0 0 192 &
144303087000505 | A*fF| 125100 | TR | Ik BH | £*BRFE | TEIUTR 191 0 0 0 0 191 B
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EERS HE | SWRB | SUER | 2I5R | BidHX | EHitkl | keSS | SHSWKERS | SHEaRERS | Sil/NErS | Silks | SHE | EEREN
100133111352091 | =g | 125100 | THEE | IF2BH | £BH%E | TEWTL 191 0 0 0 0 191 ray
100033016004596 | #&X*32 | 125100 | TrEE | IF£BH | fERE | TEITR 188 0 0 0 0 188 &
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